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Matrix M, M_model, M_view;

main()

{

. . .

M_view = compute_view_transform();

robot_arm();

. . .

}

robot_arm()

{

M_model = R_y(theta);

M = M_view*M_model;

base();

M_model = R_y(theta)*T(0,h1,0)*R_z(phi);

M = M_view*M_model;

upper_arm();

M_model = R_y(theta)*T(0,h1,0)*R_z(phi)*T(0,h2,0)*R_z(psi);

M = M_view*M_model;

lower_arm();

}
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Matrix M_modelview;

main()

{

. . .

M_modelview = compute_view_transform();

robot_arm();

. . .

}

robot_arm()

{

M_modelview *= R_y(theta);

base();

M_modelview *= T(0,h1,0)*R_z(phi);

upper_arm();

M_modelview *= T(0,h2,0)*R_z(psi);

lower_arm();

}
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T(tx,ty,tz)

S(sx,sy,sz) Ry( )
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